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RS HE BERLCWNSN |[WERLLBISE | T | E/ET | a8 | 1% 959
g RX BERLECRNISHE |BJERLEE)ISHE | KFLFRE ®E 25% 1 1# 916
W EF BERLLCEBIE  |BERLEEISE | XFILEH| /R 433% 1 165 13,276
HIlE E5 BERLLCBISHE |BERLLE)ISE | XFES EFE 222% 1 1% 946
wEt & BERLEER)ISE |FERLSENISHE | XFRIF B RET nE 1 3E 2,702
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BEREOREFERITHE EREORESFEZ(TE 1
, PRt | ETEH
K&X(EE ETn HwEH (nf)
GiED) RF INF & BE

WA BERLELRIISE |BJERLLEESH LT\?M = AITHT 1095% 1 2% 1,938
fl #hTH BERLERISHE |HERLEE)ISHET LT\?;M HeiHEET | 699% 1 43% 36,847
XE B BERLEENSHE |HERLLLEIISE | XFEE ARHAFHET 423%F 1 5% 2,835
g F BERLEEIISHE |BERLLEIISE | XFLE Fafr Al 503% 1 8% 4713
HH # BERLEERISE |BJERLESEISHE | XFWIE AN 665% 1 KES 2,910
B RR BEERMLT BERLLMERAT | XFXRR AT 47 1k 2,269
#EH EA BERLAHMERET |BERLLEHERE | XFLB TR 1667 2% 1,098
&H - BERLLCHERN |HERLEHFTREE | XFXRIR e 16% 1% 3,569
v Aa— BER)IEE BERKEMFEN | XFHE SHIE 1555%% KE 3 6,375
ng % BERIEMELFE (HERALBHBLFE| KFKIEF 145% 5% 11,766
HiE & FERMET BERLBHBLFET| KFARM W 365% 1 6% 3,101




